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for the candidates to read the
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Note: i) All questions are compulsory.
Marks allotted to each question
are given in the margin.

i) In numerical questions, give all
the steps of calculation.

iii) Give relevant answers to the
questions,

iv) Give chemical equations
: wherever necessary.
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1. ™ Four alte _
of this queston.

4

i) P\IZOS.ZHEO i1) PLSO, . PbCO,

iii) Fe,0, iv) CuFesS,. J

rnatives are given in each part
Select the correct

alternative and write it in your answer-

book :

a)

b)

078635

Formation of -coloured ions IS
possible when compounds contain

1) paired electrons

i) unpaired electrons

iii) lone pairs of clectrons

iv) none of these. 1
In Kipp's apparatus, H,S gas is

prepared

1) by the action of dil. H,S0, on
gold sulphide

11) by the action of dil. H,S0, on
iron sulphide

ili} by the action of dil. H,S0, on

copper sulphide
Iv) by the action of dil. H,SO,on
silver sulphide. 1

Which one of the following square
Planar complexes exist in cis and
trans isomeric forms ?

) Ma, i) Ma,b
i) Ma,b, iv) Mabcd. 1
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The blue colour of the water in the

sea is due to

i) refraction of the blue light by
the 1rnpur1tles in sea water

ii) reflection of blue sky by sea
water

iii) scattering of blue light by water
molecules.

iv) absorption of other -colours
except the blue colour by water
moleeules.

The formula of Bauxite is

i) AlLO,.2H,0

ii) PbSO, .PbCO,

iii) Fe O,

iv) CuFeS,. 1
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2FeC13 + SnCl2 — 2F‘1L:|Cl2 + SnClq

1
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write formulae of the following

co-ordination compounds :

iy Tetramine carbanato cobalt
(111} chloride.

i) Potassium tetracyanonickelate

). 1
Noble gases have larger atomic size
than halogens. Why ? 1

Find out oxidising and reducing
agents in the following reaction by
giving reason :

2FeCl; +3nCl, —» 2FeCl, + SnCl,

1
Explain the term 'Electmdmlysm

Describe briefly one 1mportant
application of dialysis.
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d)

What happens when H,S is passed

through ferric sulphate SOlUthI‘l ? 1
Give names and formulae of two

ores of Iron. 1
Explain Electrochemical theory of
corrosion. 1

For the reaction A+2B - 2C, the
following data were obtained :

" Initial concentration Initial reaction rate
( mole/lit. ) ( mole lit./min )

(Al | Bl __

1o | 10 015 _

20 | 1-0 ~ 0-30

30 | 1-0 045 o

10 |20 T 015
.10 | 30 | 0:15
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Write down rate law of reaction by
giving explanation. 1

| Turn over

374(GD)
4. &)
@)

)

AL RS

Wﬂw:{mmm%?ln

e h
) [FelCN) |+~ oA adIRr ¥

s |Fe(CN),] 3~ 3T ST
g |
i) Ni(CO),] AR S
[NI(CN), |2~ & et &fel & |
1+
T e F AW wd T feted e
yam = & fAmr ° gt €
) SO, ¥ H,80,H IRacH
i) N, T H, 1 NH, H 9Rae |
) - 1+ 1
FE AT W ®ie FRUT C|Ed
drilgd :
) H,+ClL, TR, op()
i) CH,COOC,H, +H,0—>
CH,COOH + C,H,OH
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i)  Describe lead accumulator cell.

ii) Why sulphuric acid is not used

for dehydration of ammonia

gas ? 1+1
Explain :

i) [Fe(CN),]*" ion is diamagnetic

but  [Fe(CN),]°  ion s

paramagnetic.
ii) [Ni(CO),] is tetrahedral while

[Ni(CN]}, ]*~ is square planar.

1+1
Write down the names and
characteristics of the catalysts
which are used in the
manufacturing of the following :

i)  Conversion of SO, into H,S0,

ii) Conversion of N, and H, into
NH,. 1 +1

.(dive order of the following reactions

with reason :
) H,+Cl,— & 2HCI
i) CH,COOC,Hg +H,0——>
CH,COOH + C,H,OH
1+ 1
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What is the difference between
Roasting and Calcination ? Give one
example of each. .
Write short notes on the following :
iy Catalytic property of d-block

elements
i) Place of actinides in periodic
table. 1+ 1

Explain the properties of halogens

on the basis of following :

i)  lonization potential

iij Electron affinity. 1+1

i) What is the primary factor that
determines whether a reaction
will occur when reacting
molecules collide ?

ijj State 'Kohlrausch's law’. 1+1
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ijj FeCl;+H. S— FeCl, + 2HCI+ S

iii) MnO, +C,0; ™ + H* -5 Mn** + CO,. 3

E‘s-l |1 H B R | 3
alance the followin ati
oxidation number meth%d :equd lons by

1) Sn + HNO, —» SnO, + NO+H,0

i)  FeCl, +H,S - FeCl, + 2HCl+$

e — —— +

iii) MnOj +C,0;” +H" > Mn"" +CO,. 3
OR _

Define 'oxidising' and 'reducing agents.

Give two examples when the same

substance acts as an oxidising as well as
reducing agent. 3

=) HR 3K fgeerk & & o e ¥ Ffim
e T

Cu(s)| Cu**(aq) | | Ag"(aq) | Agls)
AR g Y-TeT AFe TET o S i

¥t AT % To UHo Uho I TUMAT HieTY :
E =+0-34V
cu?t /Cu
=0-80V
Ag"/Ag
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A cell is set up between copper and
silver : '

Cu(s) | Cu®*(ag}| | Ag"(ag) | Ag(s)

If two half cells work under

standard conditions, calculate emf
of the cell :

E" =+0:34V
cu?* /cu
E® =0-80V
Ag’/Ag
Define standard electrode potential.
| 24 1
OR

Write short notes on the following :

i)  Electroplating

1)  Corrosion -

iii) Nernst equation. 1+1+1 §
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